BERYHGRER

(3

(HiEmAEES)
A4 4H11B(HEH) HE ik F R K X & #
TR - ik TR boikics
5 GE B B HE & ; b & ZE
h i EMA | ATTE| ®iE FE ZfE &H o BB % e Es | AWE| &SiE F1E ZiE b-42] o BB
=ik | 7.0 | 1,188 ~ 540 |10 k| 10k [ R& YV EIFF | 0.1 281 ~ 216 |o1 K MR
KiR
L Bk | 100 | 1,512 | 864 108 |10 k| ®mh | BRS
_ | b= | B | 01 194 e 108 (007 k| Fh | MW
07
ERVAIT A =i | 0.1 | 1,080 | 864 324 |t k| ®h | BRE
AFyFrAES | B | 0.1 756 ~ 432 |1 k| ®mh | #%
1.3 270 e 86 1 k| #®h | BRE LEXAED =iRF | 01 | 1,728 | 1,620 ~ 1 k| A | mmmn
el podat =10 IRRAED Ei | 0.1 576 ~ ~ Tkl A &
e 0.1 | 2,700 ~ 1,296 | 3 k| @mh | wEe
AR % -
BaE BERE| 3.0 | 3,240 ~ 1,620 [ 10 k| ®h | B&
= | 2.0 ~ 1,080 o 15 k| ®ho| &
SES BREE| 30 | 4,104 | ~ |[27160 |10 k| ®h | @&
A=A
=i [ 15.0 | 1,188 ~ 756 |10 k| #h | ®e
Ty
e A3 | B [ 0.6 ~ 3,240 ~ 10 k mh{
TY—rR—)v
BERE| 0.1 ~ 1,404 ~ 0 k| #Fh | BE
B | 0.2 | 4,860 = 1,296 | 4 k| 20®m | R& B [ 1.0 648 o 540 | 4 & ReE
< > EMER
TR
=R | 3.0 | 2,808 ~ 2,160 | 10 k| Fh | BE
=1 0.4 ~ 3 k| 20® RE ES
FhE =10 1,404 648 2 B
B | 0.4 3 k| ®ho | Re
HhE =10 1,188 | 972 540
HOE =1 ~ 540 ~ 20 ® ax
- =i | 0.5 | 2,430 ~ 1,080 | 5 k| #h | R& KR 1.0 ~ 2,160 ~ 4 k| EEE
R 1.0 ~ ;
. =10 130 54 01 k
=i | 1.0 | 1,404 i 540 |12 E| ®h | Be
Jaya)— P
roxt =10 3.0 20 01 k
1 32.0 | 1,490 ~ 1,080 BHRE fp i HiF | 0.6 | 1,836 | 1,404 | 864 3 k| #h [F¥HES
S 21 =5 | 32.5 | 1,458 ~ 1,080 | 5 « BESE
R 8.0 | 1,512 ~ 1,080 BRE RAyF—= =iy [ 0.9 756 702 216 2 k| #h | Fh
KIRZE =1 ~ 1,296 ~ 208 | ®BE
=i | 2.4 | 1,620 5 1,080 | 5 k| &h | ®&
%y
2ok FIFF ~ 1,944 ~ 208 | R&
H - 3.5 | 1,836 G 864 |4 k BRE
F=b % IR 1,296 ~ 648 10R | BRE
IMASE =1 864 ~ 648 R | B
R B | 20 [ 108 ~ 76 |02 k| Fh | BRE P2 =1 864 ~ 540 x| B
3 INDR 14.0 | 4,860 ~ 3,240 | 10 & BRE FUoyR IR G 864 ~ 108 | #&
v—<r =
10 k
Re—vr Bl | 01 8,640 ~ |[2,160 |10 « L FDh
wmg | 450 t | BAME | 1952 t




